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BEES XAtk X HEE (M) HE
1 1| = 4ERET 4,440,000 (EBEEEREEE
2 E)IET 4,440,000 (EBEEEREE X
3 5 EET 5,550,000 (BB R R EE X
4 )1 = $ERAT 916,000 |SEAEFRREX
5 = JIET 168,000 | SENEHBRE %
6 5 ST 3,361,000 (SEXERHbRE %
7 FEARET 1,681,000 | SERERAREE
8 )1 = $ERET 2,700,000 | RMBEREHLEIIEETILEXE
9 5 EET 9,250,000 [FEMEMMEBERFEIIRZEEX
10 [T = 4ERET 3,500,000 |HESEMEEIZERESE
11 |EX)IE 1,200,000 $FEREMEERIEEFEEE
12 |HII=$RET 1,467,000 [ EEIBE % (H23FEK)
13 |ELJIET 2,912,000 [ERIBE % (H23FEK)
14 | BiEHET 48,368,000 | EEIBE X (H23FEK)
15  |F&RET 826,000 |KEEIHEZE (H23FEK)
16 |ELJIET 1,414,000 [ EEIBEZE (H24FEK)
17 | BiEET 4,224,000 [SERIBEZE (H245FK)
18 |FEARET 2,678,000 [SKERIBEZ (H245F )




